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Developing/ Expected/ Greater depth activity
Lesson 4

LO: TBAT solve word problems.
Task: This week you will be designing a Lunar theme park.

Success Criteria:

1. Complete yesterday’s costings activities.
2. Read the profit and loss brief.
3. Calculate your losses and profits.

The number line below shows the integers. or whole numbers, from -10 to 10
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Numbers 1o the left on & aumber line are smaller thin those 1o their right. The value of
Iegative numbers decreases from right to left. for example, =7 5 less than -2

Real-#fe axamples of negative numbers indude
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The following rules apply when adding or 1btracting negative rambers

Adding 3 negative mamber it the tame Subtracting a negative number is the
a5 Subtracting. It produces a lower vados, same as adding. It produces a higher value

2[F=3]= -1 4=2=6
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if you add a negative number, you if you subtract a negative number, you
move to the beft on & number line mave 1o the right on a number boe

The following rules apply when multiplying or dividing negative numbers

2X-3=-6 21+ -3=-7

Multiplying a positive rumber by » Dividing a positive number by a

negative number (and vice versa) megative number (and vice vorsa)
produces a negative number produces a negative number
-2x=-3=6 -18+-3=6
Multiplying two negetive numbers Dividing & negative number by & negative

produxet a positive mamber number produces s positive number
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Create, discover and succeed together

Task 1 Task 2 Task 3
Problem solving Arithmetic Project
TBAT solve problems involving negative numbers. Finding your profit and loss.
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Here is part of a number line. 4. Profit and Logs!
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Q2. 4
99,999 + 200 =
Carol has a rule for a sequence of numbers. 5
Her rule is 600 x 40 = &
"The next number is the sum of the two previous numbers."” .
Use Carol's rule to write in the three missing numbers.
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. . ,0,1,1,2,3,5,8, ...
99,999 - 5,000 =
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636,342 2
- 217.838 14




Canonbury Home Learning

CANONBUFQ
PRIMARY SCHOOL

Q3.

Here is a table of temperatures at dawn on the same day.

Temperatures °C

London -4°C
Moscow -6°C
New York -9°C
Paris +6°C

Sydney +14°C

What is the difference in temperature between London and Paris?

At noon the temperature in New York has risen by §°C.

What is the temperature in New York at noon?

Q4.

IMark with arrows the points —=1.5 and 0.45 on the number line.
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